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FA HEEZAID
Hu: HACA BA5 =X
Cel: SEACAl 845 =& (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 3,150
301 LEtE NS 1,380 1,840 A460
== 414
[Ea 966
14 JIEt2 = 1,380 1,840 2460
O Ol&I| 21 SMol=s wetEst o 1,380
= 414
= 966
307 el2to| & 4,500 7,500 23,000
= 2,250
[Ea 2,250
02 QIZHEAAEE X 4,500 7,500 23,000
O 0ldD |21} S ot NASE &dst
A 4,500
== 2,250
[Ea 2,250
SAEA 0 HE AL 65,000 0 65,000
401 Al HIZL 2048 65,000 0 65,000
01 Al&H| 65,000 0 65,000
O HAZAl SAF=IY £ 65,000
SHISEAHA 2RAY 379,500 0 379,500
= 253,000
= 126,500
307 @I2t0| & 379,500 0 379,500
= 253,000
= 126,500
02 QIRIHAANGE R 379,500 0 379,500
O SISEHHA ASAHY 379,500
= 253,000
S 126,500
SAIRE XIS e 3,778,862 6,784,656 A3,005,79%4
== 10,000
o 3,768,862
THE & JIEAIE AHEFA 3,778,862 6,784,656 A3,005,7%
[ 10,000
T 3,768,862
SAIDHE 20 SOHAIY HRFA 1,764 1,764
202 04l 1,764 1,764
01 2LHoIH 1,764 1,764
O ZAIHEE S0
70,0002 +32 *12& %70/100 1,764
22 2 g 41,960 719,500 N677,540
201 er=23y| 30,960 6,300 24,660
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M DAS XIS R
SRl ZHE 2 OIIBAIE AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 30,960 6,300 24,660
O 2 A=SAAS HA2Y
70,0002 182 +63] 7,560
O ZAIE XM= 700,000 =22 1,400
O 2E0ISZE SHFEHS(KLIP) BEES &
=Xzl 4 22,000,000 * 14! 22,000
308 XtXIEMSO0IE 11,000 13,200 2,200
18 SIS0t & A AS A 11,000 13,200 2,200
O =z HE 28 dES1=
2,200,000 %53 11,000
01 ZHEANE EXEY 305,270 805,270 500,000
201 er2 3| 5,270 5,270 0
01 AtR2t2|HI 2,700 2,700 0
O &0 28 & 2z = 2,700
2 Ss2g4l 2,570 2,570 0
O SJIRER= 2,570 *1,000& 2,570
401 Al HIZL 01| 300,000 800,000 A500,000
01 Al&H| 300,000 800,000 /500,000
O I0IEY ZHEANE EXN2Y 300,000
2 SEHSAE ZEAE 1,500,000 800,000 700,000
401 AIEHIX R0 1,500,000 800,000 700,000
01 A28l 1,500,000 800,000 700,000
O 2% SEMSAIE Z8AY 1,500,000
SAHEEZ OI=EXNES 100,000 100,000 0
401 AIEHIZ SR OHYI 100,000 100,000
01 Al&HI 100,000 100,000
O SAAHEEZ DI2EX24 100,000
dell, 35 U2 18328 S22 ZHBA 500,000 500,000
401 Al HIZL 01| 500,000 500,000
01 Al&H| 496,425 496,425
O &, =5 U2 13 E2&xY 496,425
03 AIZ2THYI 3,575 3,575 0
O &dl,. 8= UZ 13 E2& LY
496,425,000&+0.72/100 3,575
ofell 22318 T2IHEAISE 100,000 100,000
401 AIEHIZ SR OHYI 100,000 100,000
01 Al&HI 100,000 100,000
O &l 2231856 S2IHEAIS 100,000
AEH Ol2AE 72 1,075,300 124,830 950,470
201 er23 | 1,200 1,080 120
01 At2teltl 1,200 1,080 120
O MEA 2 E2S MA 1,200
206 M=l 2,500 2,250 250
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A AL
SAlR X199 Ope
DZAE L OJIBAIE A= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 2,500 2,250 250
O ANEHEZ A OIEAE =Y 2,500
301 EtE2 N = 1,600 1,000 600
14 JIEt 23 1,600 1,000 600
O A&EH HM NS SAt=E
160,000 x221+5& 1,600
401 AIEHIZ SR 0HYI 1,070,000 70,000 1,000,000
01 Al&HI 1,063,114 69,375 993,739
O MHENEZ & 0I2AIE 72t 69,375
O 22& TMAENEZ HEAS 993,739
03 A2 THYI 6,886 625 6,261
O ANEHEZ L OIEAE FA2e
69,375,000& +0.9/100 625
O A28 NHENEZ HEAMY
993,739,000& +0.63/100 6.261
SAITHMZ0F At HR=2 54,368 50,380 3,988
201 er23| 30,840 7,440 23,400
01 At2t2ltl 18,840 7,440 11,400
O ZANY 2 2| 900
O ZANY 2R3 & dE2It 212 28
70,0008 x7 H+63] 2,940
O ZAIMY AL =5
1,200,000& *324 3,600
O ZAIMMAIE &It Ze|id &9
200,0003 * 12043 2,400
O ZAIMMAIE 21|
350,000& 12043 4,200
O SATHMAIL S2I| SHEE
200,000 *2)H 2+ 12JH 2 4,800
2 352484l 12,000 0 12,000
O ZANEAE B33
1,000,000 1290 & 12,000
202 0o4dl 3,528 2,940 588
01 2L AL 3,528 2,940 588
O ZANYEE =308
70,0002 +6E * 123 %70/100 3,528
401 AIEHIZ SR 0HYI 20,000 40,000 /20,000
01 Al&H| 20,000 40,000 /20,000
O SAITHA Al sX2t 20,000
SAITHA OO0 & XISHE 2 17,650 47,641 229,991
= 10,000
o 7,650
201 er23| 3,400 2,35 1,044
01 AtR2t2|HI 3,400 2,3% 1,044
O 2F2 TAMY mEAE 82 3,400
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= 10,000
= 4,250
01 H2E4H| 14,250 45,285 A31,035
O SAIXH&E OFtOID] =& 14,250
= 10,000
o 4,250
ARt TAINY s At (elsUl&el) 32,550 100,271 N6, 721
101 eI24d| 21,750 39,571 A17,821
M ORNZZ2NSE S 21,750 39,571 A17,821
O ZANEREXAHE 2 21,750
-Jles 80,2403 x1H 222 +0F 15,888
-RERLsY
80,2403 14 &9 2,889
—AXted 80,2402 x 1+ 12+03 723
-y 282 250,000 x1H«0Z 2,250
201 er23| 10,800 10,700 100
01 At2tltl 8,100 8,000 100
O X2 (ARA AR 8)
800,000 ~9& 7,200
O 223 7Y 100,000 0 900
02 s3=gHl 2,700 2,700 0
O 524l 300,000+ 2,700
OIZAIENESXT S22 &2 SR (AUFSAIY) 50,000 0 50,000
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
O UIZAIE~ESA G572t 28R
SAt 50,000
SAIRE XIS e 117,400 104,287 13,113
20 X 117,400 104,287 13,113
SA&=E 2l 94,155 87,463 6,692
101 e124d| 91,79% 65,313 26,482
M ORINZZ2NSE S 91,7% 65,313 26,482
O sgas dd JIZN22RH(EY)
80,2403 x22H «52&! 91,7%
201 er2 3| 1,860 21,650 A19,790
01 AtR2telHl 1,860 19,650 A17,790
O =SA&d0= 2d yeofdz &4 =4
70,0002 x8H +33] 1,680
O 29zne 28 Mol9IAs A28 79
= 60,0002 *32] 180
305 Bia =S 500 500
01 that=S 500 500
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